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A. Tick the correct answer: -                                                                                      1X10=10 

       1.70 

a.  Sixty                    b. Eighty                 c.  Seventy 

       2. 89 

a. Eighty Nine         b. Eighty         c. Twenty 

       3. 45     +     38 = _________ 

a. 64          b. 79        c. 83 

       4. 26     +     14 = ________ 

a. 40          b. 30         c. 50 

        5. 36     -      14 = ________ 

a. 32          b. 22          c.42 

        6. 33      -     12 = ________ 

a. 21          b. 31          c. 41 

        7. A cube has ________ equal faces. 

a. 7            b.8              c.6 

       8. A cylinder has 3 faces, _________ edges and o corners. 

a. 3            b.2              c.1 

       9. Expanded form of 102 is ________________ 

a. 100+2    b. 100+0+2    c. 100+0+20 

      10. short form of 400+30+7 = ______________ 

a.  4307       b. 4037           c. 437 
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      B. Match the number names: -                                                                                        1X 4=4 

                         

        29                                                                                         Fifty 

 

       36                                                                                         Twenty-Nine 

 

       42                                                                                          Thirty-Six 

 

      50                                                                                           Forty-Two 

 

 

   C. Put correct sign < , > or = :-                                                                                          1 X4=4                       

 

1. 99 ____<____ 42                                                        3. 76 ___=_____ 76 

 

2. 67 ___<______ 82                                                       4. 98 ___>_____ 49 

 

D. Regroup to add the tens and ones :-                                                                                 1X3=3        

1. 2 Tens +6 Ones= _____2___ Tens + ____6____ Ones =____8_____ 

 

2. 9 Tens  + 0 Ones = ____9___ Tens + _0_______ Ones = ___9______ 

 

3. 8 Tens  + 9 Ones = __8_____ Tens  + ___9____ Ones = ____17______ 
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E.  Write the addends and find the sum: -                                                             1X3=3 

1. 25   +  49                                           2. 62 + 73                                          3. 46 + 32 

   2        5                                                6        2                                              4         6 

           + 4        9                                         +     7        3                                        +    3         2 

_________________                              _____________                                _____________ 

                7        4                                          1       3        5                                           7        8 

__________________                            _____________                                 _____________ 

                      

 

 

F. Write the numbers and subtract :-                                                                     1X3=3 

                           

1. 43 and 21                                              2. 96 and 84                                      3. 76 and 32 

 

               4        3                                                        9        6                                           7          6 

        -      2        1                                                  -    8        4                                     -     3          2 

      ______________                                         ____________                            ______________ 

                2          2                                                      1         2                                          4          4                                      

       ______________                                         ____________                            ______________ 

 

 

G. Observe the pattern and write the next pattern: -                                           1X3=3                         

 

1. 20, 30, 40 _50_____   __60____   __70____ 

 

2. 8, 10 ,12 ___14____   ___16_____   __18____ 

 

3. NNEEXXTTNNEEX __X____   _T_____   __T_____ 
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   H. Complete the following: -                                                                                          1X2=2 

                   SHORT FORM                                                                   EXPANDED FORM 

                               109                                                                                     100+9 

        

                               312                                                                                 300+10+2 

 

I.  Fill in the blanks using the given numbers: -                                                              1X2=2                  

431     437     442     456     487     465 

 

Biggest number ___487__ 

 

Smallest number _____431___ 

 

 

 

J. Solve the stories: -                                                                                                         2X3=6 

                         

 

1. Amar has 59 kites. He gave 27 kites to Karan. How many kites are left with him? 

 

                                                                     5         9 

                                                           -         2         7 

                                                              ______________ 

                                                                       3          2 

                                                               ______________ 

                                                   = 32 Kites are left with him  
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2. Nidhi ate 24 strawberry biscuits. Mridul ate 38 orange biscuits. How many biscuits did 

they eat together? 

                                                             2           4 

                                                   +        3           8 

                                                        ____________ 

                                                              6           2 

                                                         _____________ 

                                                   = They ate 62 biscuits together 

 

 

3. Aman read 18 stories and Sudhir read 49 stories in a week. How many stories did they 

read in a week altogether? 

 

                                                            1       8 

                                                +          4        9 

                                                      ____________ 

                                                              6       7 

                                                      _____________ 

                                            = Altogether they read 57 stories 

 

 

 

 

 

                     ******************THE END****************** 
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